Deutsches Zentrallager

®ABAG-Technik GmbH

Herrenstein 35 D-48317 Drensteinfurt
Phone +49 (0) 2387 8111
Fax +049 (0) 2387 8114
www.abag.de - info@abag.de

ISO Cylinders

aoircontrol

www.aircontrol.es



Lifelong

1962... We have already been manufacturing pneumatic cylinders
for half a century now. We can say that this is a lifetime’s work.
Time flies, as does innovation, and we never tire of manufacturing
pneumatic cylinders and continuously improving our products; it’s
part of us, of our identity, impossible to erase. It’s in our history, in our
present and our future. We are “the cylinder company”.

We could give a boring speech to introduce our “lifelong” product, but
we don’t want to, nor need to. We all know that pneumatic cylinders
exist and we know their basic functions; like all pneumatic cylinder
manufacturers, we know how to make them. Some do it better than
others, but we all know how to do it. It’s like learning to ride a bike...
or to swim. You learn it and never forget. Some go to the pool on
occasions and dare to take a dip in the sea on their holidays. Others
go further, driven by their passion for water... They swim deeper, they
last longer under water, swim faster, in different styles and catch the
waves that take them further... We are this last type of swimmer.

As we have explained before, the difference between one swimmer
and the other lies particularly in their passion. That passion that
we also have for the will to supply products of the best quality,
for promoting what a “good service” really is... For achieving the
recognition of our clients that makes us continue innovating and
working with even more passion and motivation. Because it feels
good when you are acknowledged for your good work. At the end of
the day, it’s yours... “lifelong”.

AirControl, passion for cylinders...




Index

Round line cylinders

A83 Series

I1SO 6432

@8..25mm
Single Acting + Double Acting

o

~
s OV

AT83 Series

Stainless Steel

1SO 6432

@16...25 mm
Single Acting + Double Acting

Page

12

Profiled cylinders

A41 Series

ISO 15552 (ISO 6431) - VDMA 24562

@32 ...100 mm
Double Acting

Page

16*

Tie rod cylinders

* Fixing elements
Pages 27-34

A40 Series

ISO 15552 (ISO 6431) - VDMA 24562

@32 ..125 mm
Double Acting

A70 Series

1SO 15552 (ISO 6431) - VDMA 24562

@160 ... 320 mm
Double Acting

AT80 Series

Stainless Steel

ISO 15552 (ISO 6431) - VDMA 24562

@32 ...200 mm
Double Acting

Page

35




A aoircontrol

Technical information

Fluid

AirControl cylinders are designed to work with non-lubricated
air, which means that the cylinder components are lubricated
in order to guarantee a correct operation. If you decide to use
lubricated air, it’s important that the use is continuous, since this
lubrication removes the one applied in the assembly phase.

Strokes

All strokes available upon request.

Force calculation

Parameters

Bore: inside diameter of the cylinder liner (mm)
Stroke: working travel (mm)

Working pressure: (bar)

Working temperature: (°C)

Travel speed: (m/s)
Damping force: (Nm)

Air consumption: (nl/min)

Theoretical force: (N)

Bore Available area Force (N) at pressure (bar)
mm? 1 2
8 Thrust 50 4.93 9.86
Traction 38 3.73 7.46
10 Thrust 79 7.70 15.41
Traction 66 6.47 12.94
12 Thrust 113 11.09 22.19
Traction 85 8.32 16.64
16 Thrust 201 20 39
Traction 173 17 34
20 Thrust 314 31 62
Traction 264 26 52
25 Thrust 491 48 96
Traction 412 40 81
32 Thrust 804 79 158
Traction 691 68 136
40 Thrust 1257 123 247
Traction 1056 104 207
50 Thrust 1963 193 385
Traction 1649 162 324
63 Thrust 3117 306 612
Traction 2803 275 550
80 Thrust 5027 493 986
Traction 4536 445 890
100 Thrust 7854 770 1541
Traction 7363 722 1445
125 Thrust 12272 1204 2408
Traction 11468 1125 2250
160 Thrust 20106 1972 3945
Traction 18850 1849 3698
200 Thrust 31416 3082 6164
Traction 30159 2959 5917
250 Thrust 49087 4815 9631
Traction 47124 4623 9246
320 Thrust 80425 7890 15779
Traction 77308 7584 15168

3
15
11

23
19
33
25
59
51
92
78
144
121
237
203
370
311
578
485
917
825
1479
1335
2311
2167
3612
3375
5917
5547
9246
8876
14446
13869

23669
22752

4
20
15

31
26

44

79
68
123
104
193
162
316
271
493
414
770
647
1223
1100
1972
1780
3082
2889
4815
4500
7890
7397
12328
11835
19262
18491

31559
30335

5

25

19

39

32

55

42

99

85
154
129
241
202
394
339
616
518
963
809
1529
1375
2466
2225
3852
3612
6019
5625
9862
9246
15410
14793
24077
23114

39448
37919

6
30

46
39

67

118
102
185
155
289
243
473
407
740
621
1156
971
1835
1650
2959
2670
4626
4334
7223
6750
11835
11095
18491
17752
28893
27737

47338
45503

7
35
26

54
45

78

138
119
216
181
337
283
562
475
863
725
1348
1133
2141
1925
3452
3115
5393
5056
8427
7875
13807
12944
21573
20710
33708
32360

55228
53087

8

39

30

62

52

89

67
158
136
247
207
385
324
631
542
986
828
1541
1294
2446
2200
3945
3560
6164
5779
9631
9000
15779
14793
24655
23669
38524
36983

63117
60671

9
44

34

69

58
100
75
178
153
277
233
433
364
710
610
1109
932
1734
1456
2752
2475
4438
4005
6934
6501
10835
10125
17752
16642
27737
26628
43339
41606

71007
68255

10
49
37

77
65

111

197
170
308
259
482
404
789
678
1233
1036
1926
1618
3058
2750
4931
4449
7705
7223
12039
11250
19724
18491
30819
29586
48155
46229

78897
75839



Air consumption calculation

Air pressure (bar)

10 0,002 0,002 0,003 0,004 0,005 0,005 0,006 0,007 0,008 0,008
12 0,002 0,003 0,004 0,006 0,007 0,008 0,009 0,010 0,011 0,0121
16 0,004 0,006 0,008 0,010 0,012 0,014 0,016 0,018 0,020 0,021
20 0,006 0,009 0,012 0,015 0,018 0,021 0,024 0,027 0,031 0,034
25 0,010 0,014 0,019 0,024 0,029 0,033 0,038 0,043 0,048 0,052
32 0,016 0,024 0,031 0,039 0,047 0,055 0,063 0,070 0,078 0,086
40 0,025 0,037 0,049 0,061 0,073 0,086 0,098 0,110 0,122 0,134
50 0,039 0,058 0,077 0,096 0,115 0,134 0,153 0,172 0,191 0,210
63 0,061 0,092 0,122 0,152 0,182 0,212 0,242 0,273 0,303 0,333
80 0,099 0,148 0,196 0,245 0,294 0,342 0,391 0,440 0,488 0,537
100 0,155 0,231 0,307 0,383 0,459 0,535 0,611 0,687 0,763 0,839
125 0,242 0,360 0,479 0,598 0,717 0,836 0,954 1,073 1,192 1,311
160 0,396 0,590 0,785 0,980 1,174 1,369 1,564 1,758 1,953 2,147
200 0,618 0,922 1,227 1,631 1,835 2,139 2,443 2,747 3,051 3,355
250 0,966 1,441 1,916 2,392 2,867 3,342 3,817 4,292 4,768 5,243
320 1,583 2,361 3,140 3,918 4,697 5,476 6,254 7,033 7,811 8,590

Air consumption in thrust/traction in NI/min by cms. of stroke, according to the pressure (bar) at 20°C.

Load to damp

For a correct operation of the cylinder, it’s necessary to damp the mass capacity of the shock absorber. The diagram shows these values for the
in motion, in order to reduce its kinetic energy gradually. The highest different bore sizes of the cylinder.
possible mass to damp varies, depending on the travel speed and the

3 <
2 ™
\\\\\ \\\\ N NI NN
N N N N N | TN N
N, N N

1 ™ ™ \‘\\ U TSNS
Q3 0.8
S AT ONIC >
5 0 o5 305 6655@65\@5\’5&5%00
o . N L | Y N I
c
£ o4 QT
o NUTTS

0.3
2 SN
5 0.2 ™
2
‘o
kel
L 0.1
1 2 3 4567810 2 3 4 5678 100 2 3 4 5 6781000 2 3 4 5 67810000
Load to damp (kg)




aoircontrol

A83 Series

Round line cylinders
> ISO 6432

AirControl’s micro cylinders ISO 6432 are manufactured
according to European standard ISO 6432 and have
bores between 8 and 25 mm. The front cylinder heads are
fixed to the liner by means of drawing. Available in several
versions: single / double effect, magnetic and cushioned.
Moreover are available the fixing accessories and other

special designs.

[%|A[*[83|C[*k*|A[*kk*[M[X]

I

Y

\J

Strokes

&V
ﬁ/\—f 4

Codification

1 With one detector
2 With two detectors

M Magnetic
Stroke (mm)

A Cushioned
N Non cushioned

Internal bore (mm)

A High temperature (HT)

- Double acting

Single acting front spring
Single acting rear spring

Double acting through rod
Rod lock

oA WDN

Technical specifications

=

===
=
==

=%

All strokes available according to the customer’s

needs.

_ Lubricated or non lubricated air

Operating temperature range -20°C
Maximum operating pressure 10 bar”

+80°C

0 Technicalinformation page

Air consumption

Technical information page

Technical information page

Pos. Description
Piston rod

Piston rod scraper
Guide bush

Front cylinder head
O-Ring

Cushioning ring
Liner

Front semi piston

© 0 N O O A W N =

Magnetic segment
10 O-Ring
Collar

=

12 Rear semi piston
13 Rear cylinder head

Material

Stainless steel AISI 304
Polyurethane

Sintered bronze
Anodized aluminium
NBR

Neoprene

Stainless steel AIS| 304
Brass OT58
Plastoferrite

NBR

Polyurethane

Brass OT58

Anodized aluminium



Double Acting

A aoircontrol

A83 Series

Round line cylinders
ISO 6432 «

G + Stroke

L + Stroke

L1 + Stroke

A
Vi
St s cL il c
|
ol L
SIRE i SO=EEE
G )
i | ? M .
L CL1 A1 _L G1 + Stroke J
g C2 Vi Ci1 R KLi R \'} D CL1 L1 L M Gi At CL A Mi S C (¢] K H Hi S
8 M4 4 Mi12x1.25 16 8 9.27 15 4 12 64 74 12 46 16 12 21 6 - M5 86 19 6 2 7
10 M4 4 Mi12x1.25 16 8 11.27 15 4 12 64 74 12 46 16 12 21 6 - M5 86 19 6 2 7
12 M6 6 Mi6x1.5 21 12 13.27 19 6 16 75 89 16 51 22 16 27 9 5 M5 105 19 5 3 12
16 M6 6 Mi6x1.5 21 12 17.27 19 6 16 82 96 16 58 22 16 27 9 5 M5 112 19 5 3 12
20 M8 8 M22x1.5 30 16 2127 285 8 20 95 105 22 59 24 18 315 12 7 1/8” 125 27 8 4 14
25 M10x1.25 10 M22x1.5 30 16 265 285 8 22 104 114 22 64 28 20 36 12 9 1/8" 136 27 8 6 17
Through Rod
si sV ~C _C .
i R~ ] ] -
6 |
C2
L + Stroke
K L1 + Stroke

g L L1 (o3 C1 C2 S St V K
8 62 78 M5 Mi12x1.25 M4 - 7 4 12
10 62 78 M5 Mi12x1.25 M4 - 7 4 12
12 73 95 M5 Mi6x1.5 M6 5 12 6 16
16 80 102 M5 Mi16x1.5 M6 5 12 6 16
20 83 107 1/8” M22x1.5 M8 7 14 8 20
25 92 120 1/8” M22x1.5 M10x1.25 9 17 10 22



A aoircontrol

A83 Series

Round line cylinders
> ISO 6432

|
Double Acting Cushioned

G + Stroke
L + Stroke
L1 + Stroke
A M + Stroke
Vi |
S s W cL Ei c
T i W
of [k e [ O=EEE
o 9 Ty
al H ? M+ cL
‘ CL1 A1 ‘ Gi + Stroke ‘

D S
16 M6 6 Miex1.5 21 12 17.27 18 6 16 8 93 18 563 22 18 27 9 5 M5 109 22 5 3 10
20 M8 8 M22x15 30 16 2127 285 8 20 95 105 22 59 24 18 315 12 7 1/8” 125 27 8 4 14
25 M10x1.25 10 M22x1.5 30 16 265 285 8 22 104 114 22 64 28 20 36 12 9 1/8” 136 27 8 6 17

|
Single Acting Front Spring

G + Stroke

L + Stroke

L1 + Stroke

A
Vi
S1 S CL ﬂ C
|
P P
S 4{ JJJ 1 ! ! ! ! 1 al o>
o o
Hh H ? M1 M
T KL+
L CL1 A1 J_ G1 + Stroke J

g C:2 Vi Ci1 R KLi Ri1 \'} D CL1 L1 L M Gi At CL A Mi § C (¢] K H Hi S
8 M4 4 Mi12x1.25 16 8 9.27 15 4 12 64 74 12 46 16 12 21 6 - M5 8 19 6 2 7
10 M4 4 Mi2x1.25 16 8 11.27 15 4 12 64 74 12 46 16 12 21 6 - M5 8 19 6 2 7
12 M6 6 Miex1.,5 19 12 13.27 18 6 16 75 88 16 48 22 16 27 9 5 M5 104 22 5 3 10
16 M6 6 Miex1.5 21 12 17.27 19 6 16 82 96 16 58 22 16 27 9 5 M5 112 19 5 3 12
20 M8 8 M22x1.5 30 16 2127 285 8 20 9 105 22 59 24 18 315 12 7 1/8” 125 27 8 4 14
25 M10x1.25 10 M22x1.5 30 16 265 285 8 22 104 114 22 64 28 20 36 12 9 1/8" 136 27 8 6 17



| R <
Bracket R »T
N
|
|
- |
1 L o
C G
Material: Fe 37 D J

[ | _
Flange ]
ey
= O -
D p | |
Material: Fe 37 B
|
Female Hinge 0
_ Qi
e L
I I I
C B n
Material: Fe 37 L N
|
Yoke E
F
2D
/[ \
< — } - ©
N\ ] /
Material: Fe 37 c

A aoircontrol

A83 Series

Round line cylinders
Fixing elements

COD. (7]
G83AB008  8-10
G83AB012 12-16

G83AB020 20-25

g A B C D G H J R S Weight
(9)
810 12 45 25 35 11 16 16 10 3 20
12-16 16 55 32 42 14 20 20 125 4 40
2025 22 66 40 54 17 25 25 20 5 90

coD. o

G83AA008  8-10

G83AA012 12-16

G83AA020 20-25

7] A B C D R S Weight
(9)
810 12 45 30 5 11 3 12
12-16 16 55 40 6 15 4 16
20-25 22 66 50 8 20 5 50

coD. o

G83AD008  8-10

G83AD012 12-16

G83AD020 20-25

g B E C H L N O R S Weight
(9)
810 45 4 125 24 20 81 17 5 25 20
1216 55 6 15 27 25 121 23 7 3 36
2025 66 8 20 30 32 161 295 10 4 78

COD. [%]
B83AG008  8-10
B83AG012 12-16
B83AG020 20
B83AG025 25

7] A B C D E F G Weight

810 8 4 8 4 21 16 M4 5

12-16 10 6 12 6 31 24 M6 14

20 12 8 16 8 42 32 M8 35

25 16 10 20 10 52 40 M10x1.25 72

©



A aoircontrol

A83 Series

Round line cylinders

Fixing elements

Yoke Pin with Clip

%) { :,
25 E
N —
Material: Steel —
|
Ball Joint
B P
%
S i ‘
| @) =
| |
| S~ -
| 1
© | ‘
L o] <
LD | E
A F
Material: Steel
|
Rod Locknut
@
\ |
_BJ 2

Cover Locknut

®

10

(L[]

o

8-10
12-16
20

25

cob. o
B83AL008  8-10
B83ALO12 12-16
B83AL020 20
B83AL025 25
[7] Iy B C D E H Weight
()}
8-10 155 19 7 4 45 11 2
12-16 225 28 10 6 65 16 5
20 305 37 125 8 8 22 11
25 38 46 145 10 10 36 19
cob. o
C83AH008  8-10
C83AH012 12-16
C83AH020 20
C83AH025 25
A B C D E F GH JLMN O P Weight
(9)
9 8 6 M4 9 11 4 10 27 3 5 77 10 18 22
11 9 675 M6 10 13 5 11 30 40 6 89 12 20 28
14 12 9 M8 125 16 5 13 36 48 8 104 16 24 50
17 14 105 Mix125 15 19 65 15 43 57 10 129 20 28 78
cob. o A B C
M70CR0O8  8-10 M4 7 3
M70CR12  12-16 M6 10 5
M70CR20 20 M8 13 6.5
M70CR25 25 M10x1,25 17 8
coD. o
70.04.10 8-10
26.04.10 12-16
M7CR20  20-25
] A B Ch Weight
(9)
8-10 Mi2x125 7 19 12
12-16 M16x1.5 8 24 20
20-25 M22x15 10 32 35



Universal Switch

REED

11.5

17.25

HALL

34

Mounting for Universal Switch

“T” Switch

REED

82.7

28.75

HALL

Mounting for “T” Switch

A aoircontrol

A83 Series

Round line cylinders
Fixing elements

COD. Description

DSM2C525 Reed 2 wires with connector

DSM3N225 Hall 3 wires with connector

Technical data

Protection class IP 67 EN 60529
Working temperature range -20°C - +85°C
Housing material PA
Tension in DC Reed 3-230V / Hall 6-30V
Tension in AC Reed 3-230V
Current at 25°C Reed 0,5A / Hall 0,25A
On time Reed 0,5mS / Hall 0,8 puS
Off time Reed 0,1mS / Hall 0,3 pS
COD. (%] D
A83SD008 8 12
A83SD010 10 14
A83SD012 12 16
A83SD016 16 20
A83SD020 20 24
A83SD025 25 29
COD. Description
80HDO02  Reed with 2 wires
80HDO3  Hall with 3 wires
80HD04  Reed with 2 wires with m8 conn.
80HDO5  Hall with 3 wires with m8 conn.

Technical data
Protection class

IP 67 EN 60529

Working temperature range -20°C > + 85°C

Housing material PA

Tension in DC Reed 3-30V / Hall 6-30V
Tension in AC Reed 3-30V

Current at 25°C Reed 0,12 / Hall 0,20A
On time Reed 0,5mS / Hall 0,8 pS
Off time Reed 0,1mS / Hall 0,3 pS

COD. [%]
80SD08 8
80SD10 10
80SD12 12
80SD16 16
80SD20 20
80SD25 25

11



aoircontrol

AT83 Series

Stainless steel round line cylinders
> ISO 6432

The AT83 series consists of cylinders manufactured
completely in stainless steel. Ideal for the alimentary
sector, they are available in bores of 16, 20 and 25 mm.
As with the standard ISO 6432 cylinders, the front
cylinder heads are fixed to the liner by means of drawing.

Codification

[%|A|T[83|C[*k*|A[*,kk*[M[x]

2 With two detectors
—— > M Magnetic E:I

> Stroke (mm) 4

» A Cushioned :Ej

» Internal bore (mm)

» - Double acting
4 Through rod
6 Rod lock
Strokes Technical specifications

All strokes available according to the customer’s Lubricated or non lubricated air
needs. Operating temperature range -20°C  +80°C

Maximum operating pressure 10 bar”
Technical information page

Tochnical information page

Pos. Description Material

1 Piston rod Stainless steel AISI 316
2 Piston rod scraper Polyurethane

3 Guide bush Sintered bronze

4 Front cylinder head Stainless steel AISI 316
5 0O-Ring NBR

6 Cushioning ring Neoprene

7 Liner Stainless steel AISI 304
8 Front semi piston Brass OT58

9 Magnetic segment Plastoferrite

10 O-Ring NBR

11 Collar Polyurethane

12 Rear semi piston Brass OT58

13 Rear cylinder head Stainless steel AISI 316

12



A aoircontrol

AT83 Series

Stainless steel round line cylinders
ISO 6432 <«

|
Double Acting

M + Stroke

R + Stroke

Ch

- b
jo

D)
. C_
.
==

“
L P + Stroke L
F K
N

17} A A1 B cC D E F G D L M N P R CH
16 M6 6 M16x1.5 12 19 6 16 MS 2 18 109 9 53 82 5
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 131 12 67 95 7
25  M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 140 12 68 104 9

13



A aoircontrol

AT83 Series

Stainless steel round line cylinders

Fixing elements

Stainless Steel
Bracket

Material: Stainless
steel AISI 304

( i 1 i
(]
[ (%]

Stainless Steel

Flange

Material: Stainless
steel AISI 304

Stainless Steel
Female Hinge

Material: Stainless
steel AISI 304

14

Stainless Steel Locknut for Cylinder
Heads

Material:
Stainless steel

@

(L[]

(7] A
8-10 12
12-16 16
20-25 22
17} B E
8-10 45 4
12-16 55 6
20-25 6.6 8

4.5
5.5
6.6

12.5
15
20

coD. o

TG83AB016 16

TG83AB020 20

TG83AB025 25

C D G H J R S Weight
(9)
25 35 11 16 16 10 3 20
32 42 14 20 20 125 4 40
40 54 17 25 25 20 5 90

CcoD. o

TG83AA016 16

TG83AA020 20

TG83AA025 25

7] A B C D R S Weight
(9)
810 12 45 30 5 11 3 12
12-16 16 55 40 6 15 4 16
20-25 22 6.6 50 8 20 5 50

COD. o

TG83AD016 16

TG83AD020  20-25

H L N o) R S Weight
(9)
24 20 81 17 5 25 20
27 25 121 23 7 3 36
30 32 161 295 10 4 78

coD. o A B C

H70CR16 16 M16x1,25 22 6

H70CR20  20-25 M22x1,5 27 8




Stainless Steel Locknut for Piston

Material:
Stainless steel

|
“T” Switch

-
D=
6
REED HALL

82.7

28.75

N
Mounting for “T” Switch

(L[]

A aoircontrol

AT83 Series

Stainless steel round line cylinders
Fixing elements

COD. o A B C
M70CR08 8-10 M4 7 3
M70CR12  12-16 M6 10 5
M70CR20 20 M8 13 6.5
M70CR25 25 M10x1,25 17 8

COD. Description

80HDO02 Reed with 2 wires

80HDO3  Hall with

3 wires

80HDO0O4 Reed with 2 wires with m8 conn.

80HDO5  Hall with

3 wires with m8 conn.

Technical data

Protection class

Working temperature range
Housing material

Tension in DC

Tension in AC

Current at 25°C

On time

Off time

IP 67 EN 60529

-20°C - + 85°C

PA

Reed 3-30V / Hall 6-30V
Reed 3-30V

Reed 0,12/ Hall 0,20A
Reed 0,5mS / Hall 0,8 pS
Reed 0,1mS / Hall 0,3 pS

COD. [%]
80SD16 16
(80SD20 20
80SD25 25

15



A aoircontrol

A41 Series

Profiled cylinders
> I1SO 15552 (ISO 6431) - VDMA 24562

AirControl's ISO 15552 (ISO 6431) cylinders are
manufactured according to European standard ISO 15552
and have bores between 32 and 100 mm. When precision
is required, the most suitable cylinders are the double
effect, magnetic and cushioned versions. The A41 series
is available with different types of profiles, with which we
are able to adapt best to each application. It is possible to
use a special design, which includes Viton seals for high
temperatures.

Codification

[%[A]x[41|C|x,*|A|**x**x[M|*|

Y

Y

Internal bore (mm)

Stainless steel piston rod

Stainless steel piston rod + HT seals

Steel piston and cylinder heads + HT seals
Steel cylinder heads

Bellow

mn D X

Y

- Double acting
4 Through rod
6  Rod lock

Strokes Technical specifications

2 With two detectors
L—— > M Magnetic DE:I
Stroke (mm) 4

» A High temperature (HT) [@j

Lubricated or non lubricated air

Operating temperature range -20°C +80°C

Maximum operating pressure 10 bar”
N ] Technical information page
Technical information page

All strokes available according to the customer’s
needs.

Profiled tube

The A41 series is available with different types of
profiles. Please contact our Technical Office for more
information.

16



A aoircontrol

A41 Series

Profiled cylinders
ISO 15552 (ISO 6431) - VDMA 24562 <

-
1 )

Pos. Description Material
1 Piston rod Chrome-plated C40 steel
2 Piston rod scraper Polyurethane
3 Cushion regulation screw Nickel-plated copper
4 Cushion stop screw Nickel-plated copper
5 Cushioning seal Polyurethane
6 Semi piston POM
7 O-Ring NBR
8 Slipping segment POM
9 Rear cylinder head Aluminium die-casting
10 Locknut Zinc-plated steel
11 Guide bush PTFE @32-63 Bronze @80-125
12 Front cylinder head Aluminium die-casting
13 O-Ring NBR
14 Liner Anodized aluminium
15 Collar Polyurethane
16 Magnetic segment Plastoferrite
17 Cylinder head fixing screw Zinc-plated steel
18 Piston locknut Zinc-plated steel
Spare kit Bore

32 40 50 63 80
Standard 40KR03  40KR04 40KR05 40KR06  40KRO08
High temperature A40KRO3 A40KR04 A40KRO5 A40KR06 A40KR08

Fixing elements
Pages 27-34

17



A aoircontrol

A41 Series

Profiled cylinders
» ISO 15552 (ISO 6431) - VDMA 24562

Double Acting
Y
Ch
EE ‘
L
o O
g | R ST o
© ©
AM TG
L1 + Stroke WH E
L2 + Stroke
g A AM B E EE Y KK L1 L2 P SE TG WH Ch
(3) el (3) (%]

32 20 22 30 47 G1/8" 4 M10x1.25 94+04 120 M6 12 325 26 10
40 22 24 35 53 G1/4” 4 M12x1.25 105+0.7 135 M6 16 38 30 13
50 28 32 40 65 G1/4” 4 Mi16x1.5 106+0.7 143 M8 20 465 37 16
63 28 32 45 75 G3/8” 4 M16x1.5 121+0.8 158 M8 20 56.5 37 16
80 34 40 45 95 G3/8” 4 M20x1.5 128+0.8 174 M10 25 72 46 21
100 38 40 55 115 G1/2” 4 M20x1.5 138+ 1 189 M10 25 89 51 21

Through Rod

Ch
— ResS
m \ O i
Q 1 I EE ] =
=D ©
A AM TG
WH + Stroke L1 + Stroke WH | E
L3 + 2x Stroke

32 20 22 30 47 G1/8” M10x1.25 94+04 120 146+04 M6 12 325 26 10
40 22 24 35 53 G1/4” Mi12x1.25 105+0.7 135 165+0.7 M6 16 38 30 13
50 28 32 40 65 G1/4” Mi16x1.5 106+0.7 143 180+0.7 M8 20 465 37 16
63 28 32 45 75 G3/8” Mi16x1.5 121+0.8 158 195+0.8 M8 20 56.5 37 16
80 34 40 45 95 G8/8” M20x1.5 128+0.8 174 220+0.8 M10 25 72 46 21
100 38 40 55 115 G1/2” M20x1.5 138+1 189 240 +1 M10 25 89 51 21

18



Oval Switch

REED

HALL

4.56 |

A aoircontrol

A41 Series

Profiled cylinders
Fixing elements

O
~

! N 29.3
COD. Description
81DSM2C525 Reed with 2 wires
81DSM3C525 Hall with 3 wires
81DSM4C525 Reed with 2 wires with m8 conn.
81DSM5C525  Hall with 3 wires with m8 conn.

Technical data
Protection class

IP 67 EN 60529

Working temperature range -20°C > + 85°C

Housing material
Tension in DC
Tension in AC
Current at 25°C
On time

Off time

PA

Reed 3-30V / Hall 6-30V
Reed 3-30V

Reed 0,12/ Hall 0,20A
Reed 0,5mS / Hall 0,8 pS
Reed 0,1mS / Hall 0,3 pS

19



A aoircontrol

A40 Series

Tie rod cylinders
> ISO 15552 (ISO 6431) - VDMA 24562

The A40 series tie rod cylinders are available with bores from
32 to 125 mm. All of them are built according to ISO-VDMA
standards and are available in a double acting version with
or without a magnetic piston in all possible strokes.

-

Codification

[%|A[*[40[C|x,*|A[****[M]*]

1 With one detector
2 With two detectors
-—— > M Magnetic E:I
»  Stroke (mm) 4
Internal bore (mm) :E:I
» A High temperature (HT)
C  Chromium-plated steel tube
D  Chromium-plated steel tube + HT seals
F  Bellow
H  Steel tube + Bellow
K Stainless steel rod
L  Stainless steel rod + HT seals
M Through rod + HT seals
N  Stainless steel rod + Chromium plated steel tube
P Steel tube
R  Steel piston and caps + HT seals
S  Steel caps
T  The complete cylinder in stainless steel
U  Steel tube + HT seals
» - Double acting
4 Through rod
6 Rod lock
Strokes Technical specifications
All strokes available according to the customer’s Aluminium alloy
needs. Chromium-plated steel (stainless steel on request)
Zinc-plated stee
Anodized aluminium
O Polyurethane
Pneumatic with micrometric control
0T 480
5o
(-30°C  +200°C with Viton seals)
Not required
T Fitered air
10 bar
_ Technical information page
Technical information page

20



A aoircontrol

A40 Series

Tie rod cylinders
ISO 15552 (ISO 6431) - VDMA 24562 <

Pos. Description Material
1 Piston rod Chrome-plated C40 steel
2 Piston rod scraper Polyurethane
3 Cushion regulation screw Nickel-plated copper
4 Cushion stop screw Nickel-plated copper
5 Cushioning seal Polyurethane
6 Semi piston POM
7 O-Ring NBR
8 Slipping segment POM
9 Rear cylinder head Aluminium die-casting
10 Locknut Zinc-plated steel
11 Guide bush PTFE @32-63 Bronze @80-125
12 Front cylinder head Aluminium die-casting
13 O-Ring NBR
14 Liner Anodized aluminium
15 Collar Polyurethane
16 Magnetic segment Plastoferrite
17 Cylinder head fixing screw Zinc-plated steel
18 Piston locknut Zinc-plated steel
Spare kit Bore
32 40 50 63 80 100 125
Standard 40KR03  40KR04 40KR05 40KR06  40KR08 40KR10 40KR12
High temperature A40KRO3 A40KR04 A40KRO5 A40KR06 A40KR08 A40KR10 A40KR12

Fixing elements
Pages 27-34

21



A aoircontrol

A40 Series

Tie rod cylinders
» ISO 15552 (ISO 6431) - VDMA 24562

M.6
M.6
M.8
M.8
M.10
M.10
M.12

Double Acting
Y EE EE
— Ch
i
iy :
A AM
L1 + Stroke WH
L2 + Stroke
(%] A AM B E EE Y KK L1 L2 P SE TG WH Ch RT
32 20 2237 30°" 47 G1/8” 4 M10x1.25 94:=4 120 M6 12 325 26 10
40 22 243 35" 53 G1/4”7 4 M12x1.25 1054 135 M6 16 38 30 13
50 28 327 40" 65 G1/4” 4 Mi6x1.,5 106:=4 143 M8 20 465 37 16
63 28 329 45°" 75 G3/8” 4 Miex1.5 121=4 158 M8 20 565 37 16
80 34 409 45°" 95 G8/8” 4 M20x1.5 1284 174 M10 25 72 46 21
100 38 403 55" 115 R1/2” 4 M20x1,5 138+ 189 MI10 25 89 51 21
125 40 549 60°" 140 R1/2” 6 M27x2 160+ 225 M12 32 110 65 28
Through Rod
/EE
—g o Tl
8 O w
o
il I
J
A
WH + Stroke L1 + Stroke WH E
L3 + 2 x Stroke

g A AM B E 33 KK

32 20 223 30°" 47 G1/8” M10x1.25
40 22 249 35°" 53 G1/4” Mi2x1.25
50 28 323 40°" 65 G1/4” Mi6x1.5
63 28 329 45°" 75 G3/8” Mi6x1.5
80 34 405 45°" 95 G3/8" M20x1.5
100 37 409 55°" 115 R1/2” M20x1.5
125 40 54 5 60°" 140 R1/2” M27x2

22

L1
94 04

105 =04
106 =04
121 =04
128 =04
189 =04
225 04

L3
146 04
165 04
180 04
195 04
220 o4
240 =2
290 =2

BG
16
16
16
16
16
16
20

P SE TG WH Ch

M6
M6
M8
M8
M10
M10
M12

12 325
16 38
20 46.5
20 56.5
25 72
25 89
32 110

26
30
37
37
46
51
65

10
13
16
16
21
21
28



A70 Series

Tie rod cylinders
> I1SO 15552 (ISO 6431) - VDMA 24562

The A70 series tie rod cylinders are available with bores from
160 to 320 mm. All of them are built according to ISO-VDMA
standards and are available in a double acting version with or
without a magnetic piston in all possible strokes.

[%|A[*[70[C|**, K |A[*, % **[M]|*|

S

Y

Y

Strokes

aoircontrol

Codification

1 With one detector
2 With two detectors

M Magnetic
Stroke (mm)

A Cushioned
N Non cushioned

4

Internal bore (mm)

High temperature (HT)

Bellows + HT seals

Chrome-plated steel tube

Chrome-plated steel tube + HT seals

Steel cylinder heads and piston

Bellows

Chrome-plated steel tube + Bellows

Stainless steel piston rod

Stainless steel piston rod + HT seals

Stainless steel piston rod + HT seals + Chrome-plated steel tube
Stainless steel piston rod + Chrome-plated steel tube

Steel tube

Steel liner + Piston + Cylinder heads

Steel piston and cylinder heads + HT seals

Steel cylinder heads

The complete cylinder in stainless steel

Steel tube + HT seals

The complete cylinder in stainless steel + HT seals

Steel liner, piston and cylinder heads + Stainless steel piston rod + HT seals

< XC-H0OITOU=zZIrrXITNTmMmoOm>»

- Double acting
4 Through rod
6  Rod lock

Technical specifications

All strokes available according to the customer’s
needs.

Cylinder heads

Aluminium alloy

Forces

| Cylinderheads |
Chrome-plated steel (stainless steel on request)
Zinc.plated st
Anodized aluminium
I N
Micrometric control
e s
Lo 0%

(-30°C  +200°C with Viton seals)
Not ayrec
R Fitred i
10ar
EEN

Technical information page

Air consump Technical information page

|

23



A aoircontrol

A70 Series

Tie rod cylinders
» ISO 15552 (ISO 6431) - VDMA 24562

Num. Description Units Bore
160
1 Liner 1 70BAT6AXXXX
2 Pistonrod i1 =
2A Piston rod 1 70CA16BXXXX
3 Piston 1 T70FE16B
4 Guide bush 1 70.16.04
5 Front cylinder head 1 70FA16C
6 Rear cylinder head 1 70FB16C
7 Piston rod nut 1 -
7A Piston rod screw 1 70.16.07
8 Regulator 2 70FL10A
9 Tierod 4 70DA16BXXXX
10 Locknut 1 26.16.10
*11  Collar 2 -
*12 Cushioning seal 2 -
*13 Piston rod scraper 1 -
*15 Slipping segment 1 -
*16 O-Ring 2 -
*17 O-Ring 1 -
19 Lock washer 2 70.10.19
20 Tie rod nut 8 T70FN16A
*21  O-Ring 2 -
22 Flat washer 8 70.16.22
23 Flat washer 2 70.16.28
*Spare kit components
Spare kit 160
Standard 70KR16
High Temperature A70KR16

24

200
70BA20AXXXX

70CA20BXXXX
70FE20B
70.16.04
70FA20C
70FB20C
70.16.07
70FL10A
70DA20BXXXX
26.16.10

70.10.19
70FN16A

70.16.22
70.16.28

200
70KR20
A70KR20

250
TOBA25AXXXX
TOCA25BXXXX
70FE25B
70.25.04
70FA25C
70FB25C
70.25.07
70FL10A
7ODA25BXXXX
70.25.10

70.10.19
7OFN25A

70.25.22
70.25.28

250
70KR25
A70KR25

320
T0BA32AXXXX
70CA32BXXXX
7T0FE32A
70FR32A
70FA32C
70FB32C
70.25.07
70FL10A
70DA32BXXXX
70.32.10

70.10.19
70FN32A

70.32.22
70.25.28

320
70KR32

A70KR32



A aoircontrol

A70 Series

Tie rod cylinders

ISO 15552 (ISO 6431) - VDMA 24562 <«

Double Acting
L1 + Stroke )ﬁ
,
S Jan) %
| &k/\& EEg/JJ%
@ ‘
— E
L12 L2 BG
AM WH G
E
0 O©OA OB E G L1 L2 L12 R AM OBA BG EE RT SW WH VA
160 40 65°" 180 51 2607 45 16 14006 72 9 65" 21 R3/4” M36x2 M16 34 86 6
200 40 75" 220 52 275%7 47 16 1756 720 75° 22 R3/4" M36x2 M16 34 95 6
250 50 90°" 275 55 3052 63 18 2205 849 90°" 25 R1” Md42x2 M20 46 105 9
320 63 110°'" 344 58 3402 63 25 270 962 110°" 28 R1” M48x2 M24 55 120 9
Through Rod
@ 7 EE\ E <
‘ Lg g
o o] fan vy
S L = ANDY
’ \EE (>
@ — &
L2 BG| 12
WH G G WH + Stroke
AM L3 +2 Stroke AM
@ OA OB E G L2 L3 L12 R AM BG EE KK RT SW WH
160 40 65°'" 180 51 45 3402 16 14026 720 21 M36x2 M16 34 86
200 40 75°" 220 52 47 3702 16 17506 729 22 M36x2  M16 34 95
250 50 90°" 275 55 63 4102 18 22006 849 25 M42x2  M20 44 105
320 63 110°" 344 58 63 460%2° 25 270 960 28 M48x2  M24 56 120

25



A aoircontrol

A70 Series

Tie rod cylinders
Magnetic Switches

|
DST49

Brackets for tie rods with bores from 5 mm to 12 mm

For cylinders with bores from 32 mm to 125 mm

DSM2C525
2 Wires
C Circuit
230
20
10
200
a0
a0
70
60
50
40
2
o Max. inductive load curve
b1
s T0
P B0
S 2
@ %
o
o] 2
glra gll 01 D2 93 04 05

Current (A)

Voltagerange  Switching Switching Protection

current capacity degree

Working

20

=
11.5 34
17.25
N
DST51

Brackets for tie rods with bores from 12 mm to 16 mm

137

197

For cylinders with bores from 160 mm to 200 mm

DSM3N225
3 Wires

DSL sensor limit
N Circuit

— >
Br

S
c oz
1

Load

temperature

Tensio

®=0

& 25 50 70 100125 150175 200 225 250
Current (MmA)

DSM2C525
DSM3N225

3-230 AC-DC 0.5
6-30 DC 0.25

10 VA
6W

IP67
IP67

-20/ +85
-20/ +85

OFF time Electriclife Contact Contact
resistance function
impulses
0.5 ms 0.01 ms 107 0.1
0.8 us 0.3 s 10° -

For other detectors, circuits and voltages, please contact our Technical Office.

26



Bracket

AM

BH + Stroke

A aoircontrol

ISO 15552 Cylinders

(Tn

- d

BG + Stroke

o

—

o BA BB BC BD BE BF BG BH Bl BJ BK AM KK
32 45 3202 555 5 7H4  3pIsIs 404125 144+ 41 35 24 2202 M10X1,25
40 52 362 63 5 QMW 3@ists {113 {63+ 15 43 28  24°2 M12X1,25
50 65 4502 7825 6 QW4 4515 {70+ 175+ 15 47 32 3202 MI16X1,5
63 75 5002 8825 6 QW4 5QIsis 18516 1906 15 47 32 3202 M16X1,5
80 95 632 1105 7 12" 3515 210+  215+6 20 61 41 40°2 M20X1,5
100 115 753 1285 7  14H14 7115 20016 23016 25 66 41 40°2 M20X1,5
125 140 9004 160 9 164 90¥sts 25022  270%2 25 60 45 54°/2 M27X2
160 180 11504 205 10 18H14 115415 3002 323#2 20 80 60 7292 MB36X2
200 220 135:5 245 10 22"+ 135415 320+ 3452 30 100 70 72°2 M36X2
250 275 165% 302,5 20 28"+ 165%15 350+  380% 40 115 75 84°72 MA42X2
320 353 200+ 372,5 23 35"4 20015 39025 42525 45 130 85 96°/2 M48X2
|
Flange Ut + Stroke
H i
l i
g E]
< =
AK__|AF AF
AM AH + Stroke
g AA AB AC AD AF  AG AH L1 AK AM KK
32 46 32 80 644 10 7 130#% 120 16='6 22072 M10X1,25
40 55 36 91 7294 10 9  145#1% 135 20+16 24072 M12X1,25
50 62 451 107 90%™ 12 9  155#1% 143 24.5+6 3202 M16X1,5
63 80 50" 120 100%“ 12 9 170+ 158 2452 3202 M16X15
80 95 631 155 12691 16 12 190+¢ 174 30%  40°2 M20X1,5
100 114 75%% 180 150" 16 14 205+¢ 189 35%2  40°2 M20X1,5
125 140 90%" 220 180’ 20 16 245+ 205 4525  540-2  M27X2
160 180 115%'4 280 230%™ 20 18 280% 260 6625 7292 M36X2
200 220 135%'% 320 2709 25 22 300 275 7025  720/2 M36X2
250 280 165 395 330%'4 25 26 330+ 305 8025 8492 M42X2
320 345 200 475 400%' 30 33 370%25 340 90+5  96°/2 M48X2

Fixing elements

COD. 17}
G70AB03 32
G70AB04 40
G70AB05 50
G70AB06 63
G70AB08 80
G70AB10 100
G70AB12 125
G70AB16 160
G70AB20 200
G70AB25 250
G70AB32 320

AC

AB

COD. o
G70AA03 32
G70AA04 40
G70AA05 50
G70AA06 63
G70AA08 80
G70AA10 100
G70AA12 125
G70AA16 160
G70AA20 200
G70AA25 250
G70AA32 320

27




A aoircontrol

ISO 15552 Cylinders

Fixing elements

N
Male Hinge

H i
‘ L cc
() O
A i ils
AM CE + Stroke
. ‘
)
g CA CB cc c¢D CE AM KK
32 47 26 02108 11 10" 142+ 2202 M10X1,25
40 53 28 02106 13 12 160+ 2402  M12X1,25
50 65 32 0208 13 12" 170+ 3202 M16X1,5
63 75 40 02108 17 16" 190+ 32042 M16X1,5
80 95 50 0208 17 16" 210+6  40°2  M20X1,5
100 115 609206 21 20"  230#S  40°2 M20X1,5
125 140 709912 26  25H 2752 54012 M27X2
160 180 909912 31 30"  315% 72012 M36X2
200 220 90712 31 30"  335% 7202 M36X2
250 275 1109812 41 40" 375 84072 M42X2
320 344 12070512 46 45 42025 06012 M48X2
Female Hinge
0D
DF
@m; )
il
il
DE + Stroke
@ DA DB DC DD DE DF AM KK
32 47 26f4  45M¢  10M 142+ 11 22072 M10X1,25
40 53 28t B2ms  qpH g0 13 24072 M12X1,25
50 65 32" gOM¢  12H {70+ 13 3292 M16X1,5
63 75 40" 70M™¢ 1M 190#° 17 3292 M16X1,5
80 95 50" 90"«  16H 210#° 17 4092 M20X1,5
100 115 60"  {110M¢ 20" 230+6 21 40°2 M20X1,5
125 140 70M4  {30M¢ 25 2752 26 5402 M27X2
160 180 90H#  {70M¢ 30" 3152 31 7202 M3BX2
200 220 90"4  170"¢ 30" 335%2 31 7202 M36X2
250 275 1104 2004 40M 3752 40 84°/2 M42X2
320 345 120M  220M4  45H 42025 46  96°/2  MA48X2

28

© @
© ©
CB
CA
COD. (7]
G70AC03 32
G70AC04 40
G70AC05 50
G70AC06 63
G70AC08 80
G70AC10 100
G70AC12 125
G70AC16 160
G70AC20 200
G70AC25 250
G70AC32 320
@ @
g
@ | @
DC
DA
COD. (7]
G70AD03 32
G70AD04 40
G70AD05 50
G70AD06 63
G70AD08 80
G70AD10 100
G70AD12 125
G70AD16 160
G70AD20 200
G70AD25 250
G70AD32 320




N
Rear 90° Hinge

U

@ NA NB NC

32 26 -0,2/-0,6 51 38 Js14
40 28 -0,2/-0,6 54 41 Js14
50 32 -0,2/-0,6 65 50 Js14
63 40-02/-06 67 52 Jst4
80 50 -0,2/-0,6 86 66 Js14
100 609206 96  76M
125 700815 124 Q4
160 90°5-15 156 118Ut
200 90°05M1S 162 12241
250 1100515 200 15051
320 12005415 234 1704

DE + Stroke

A aoircontrol

ISO 15552 Cylinders

ND NE

31 {84
35 92pJs4
45 309
50 35 Js14
60 409
70 50 Js14
90 609
126 88
130 90+
160 110%™
186 122451

Intermediate Hinge

NF NG NH

8

10
12
12
14
15
20
25
30
35
40

| E E
AT Y
] & be
Z%INH H . @ @
QZE

32
40
50
63
80
100
125
160
200
250

NN NK NL DE AM
32 Js15 21 Js14 10H9 10 6,6 H13 142 +1,25 22 0/-2
36JS15 24JS14 12H9 11 6’6H13 16011,25 240/—2
45 Js15 33 JS14 12 H9 13 9 H13 170 +1,25 32 0/-2
50 Js15 37 Js14 16H9 15 9H13 190 +1,6 32 0/-2
63JS15 47JS14 16H9 15 11 H13 2103:1.6 400/—2
71 Js15 55 Js14 20 H9 19 11 H13 2301:1,6 40 0/-2
90J515 70 JS14 25 H9 22’5 14H13 275 *2 54 0/-2
115JS15 97JS14 30 H9 31 75 14H13 3154:2 720/—2
1350515 105414 3040 31,5 18 33522 720/
165 JS15 128 Js14 40 H9 40 22 H13 375 +2 84 0/-2
200 JS15 1 50 Js14 45 H9 45 26 H13 420 +2,5 96 0/-2
EE
) EB EC ED EE EG AM
5074 12Mm 129 43 20 64+ 2202
63" 16M¢ 16 56 25 742 2402
754 16M¢ 16% 68 25 81= 3202
90" 20M¢ 20% 82 35 89,5  320%
110m¢  20M4 20% 100 35 99,52 4002
132me  25M4 25 122 45 1135%2 4002
160M¢  25M¢ 25% 150 45 137,5:25 540
200m¢  32Mm¢ 32 190 45 159,5:25 720
25074  32M4 32e 235 45 169,5:25 7202
320m¢  40M¢ 40 312 55 187,525 8402
400™¢ 50M¢ 50 385 70 213:25 9602

320

KK
M10X1,25
M12X1,25
M16X1,5
M16X1,5
M20X1,5
M20X1,5
M27X2
M36X2
M36X2
M42X2
M48X2

Fixing elements

NA

@
E
©
T i
NC
NB
COD. %]
B70ANO3 32
B70AN04 40
B70ANO05 50
B70AN0O6 63
B70ANO8 80
B70AN10 100
B70AN12 125
B70AN16 160
B70AN20 200
B70AN25 250
B70AN32 320
LEC _

EB

EA

ED

EB

KK
M10x1.25
M12x1.25
M16x1.5
M16x1.5
M20x1.5
M20x1.5
M27x2
M36x2
M36x2
M42x2
M48x2

COD. (7]
B70AEO03 32
B70AE04 40
B70AE05 50
B70AE06 63
B70AE08 80
B70AE10 100
B70AE12 125
B70AE16 160
B70AE20 200
B70AE25 250
B70AE32 320

29



A aoircontrol

ISO 15552 Cylinders

Fixing elements

Intermediate Hinge Bearing

Adjustable Intermediate Hinge

30

[ IH |
O Hor I o
— ] | LB
@ lec|
LEE
LEE ]
FB
FA
[7] FA FB FC FD FE FF FG FH COD. [%]
32 46 32:=2 6,6"° 1501 18 10,5 12H 30 B70AF03 32
40 55 362 gH® 1801 21 12 1617 36 B70AF04 40
50 55 3602 9HB 1801 21 12 16% 36 B70AF05 50
63 65 422 {qH1 2001 23 13 20" 40 B70AF06 63
80 65 42:=02 1q1H13 Q=01 23 13 20H7 40 B70AF08 80
100 75 502 14H183 2501 285 16 25H7 50 B70AF10 100
125 75 50%02 14H13 2501 285 16 25H7 50 B70AF12 125
160 92 603 18H1  30:02 40 22,5 32" 60 B70AF16 160
200 92 60=0° 18H1B 3002 40 22,5 32" 60 B70AF20 200
250 140 90=02 22H18 35202 50 27,5 40" 70 B70AF25 250
320 150 1003 2641 402 60 32,5 50" 80 B70AF32 320
T ‘ T
'Ii &I. ® ®
fﬁ;,‘ L ,ﬁ;\, # #
LN
=7 AN
< m —————(\—Jr—}—}———— oE@
) / Y
1=nN e
Do o
F
E
G D
H
[%] A B C D E F (¢} H COD. [%]
32 65 44.6 12 25 175 45 52 87 B81AEO03 32
40 74.8 50.8 16 25 215 508 62 105 B81AE04 40
50 903 60.3 16 25 215 606 74 117 B81AE05 50
63 945 705 20 30 235 70 91 138 B81AE06 63
80 109.3 87.5 20 30 235 872 111 158 B81AE08 80
100 134 106.6 25 40 33 106.2 129 195 B81AE10 100
125 160 1326 25 40 33 132.1 156.7 222.7 B81AE12 125




A aoircontrol

ISO 15552 Cylinders

Fixing elements

Intermediate Hinge Bearing 5
C
s
i \
<C
L™ Lot
L T \/
F
G
H
AN G\ <
Y/ N2 4[
L |
[7] A B C D E F G H L M CoD. o
32 7 11 66 30 15 12 32 46 105 18 100 B81AF03 32
40-50 9 15 9 36 18 16 36 55 12 21 150 B81AF04 40-50
6380 11 18 11 40 20 20 42 65 13 23 234 B81AF06 63-80
100-125 13 20 14 50 20 25 50 75 16 285 435 B81AF10  100-125
Rear Hinge Vertical Mounting
ME+S
MF
i i ® ®
& B ¢ ks
i fD & ®
| V8|
MC
g MA MB MC MD ME MF AM KK CoD. o
32 47 14W4 3492 q0H {42+ 41 2202 M{0X1,25 ~ G70AMO3 32
40 53 164 4092 12M 160+ 13 24072 M12X1,25  G70AMO4 40
50 65  21H4 4592 qgH {70+ {4 3202 M16X1,5 G70AMO5 50
63 75 21M4 51d2 qgH 1906 18 3202 MI16X1,5 G70AMO06 63
80 95 25H4  @gmdz pgHe  210#6 22 4092  M20X1,5 G70AMO08 80
100 115 25M4 75d12  pgHe  23Q=t6 22 40°2 M20X1,5 G70AM10 100
125 140 37H4  Q7¢z  30M 275 30 540/ M27X2 G70AM12 125
160 180 434 {229¢12 35He  3{5:2 33  720/2 M36X2 G70AM16 160
200 220 434 122912 35M  335:2 38 7202 M3BX2 G70AM20 200
250 275 49W4 125912 40M  375%2 42 8402 M42X2 G70AM25 250
320 345 60 150912 50H  420%25 52 9042  M48X2 G70AM32 320

31



A aoircontrol

ISO 15552 Cylinders

Fixing elements

Bracket with Ball Joint

17}
32
40
50
63
80
100
125
160
200
250
320

s

RA
14 #0101

16 +0/-0.1

21 +0/-0,1
24 +0/-0.1
25 +0/-0,1
25 +0/-01
37 +0/-0,1
43 +0/-01
43 +0/-0,1
49 +0/-01
60 +0/-0,1

RB RC RD

51
54
65
67
86
96
124
156
162
200
234

38 Jsi14
41 Js14
50 Jsi14
52 Js14
66 JS14
76514
94 Js14
118814
122 Js14
150 Js14
170 Js14

31 Js15
35815
45 Js15
5015
60 Js15
709815
90 Js15
115815
135 JS15
165 JS15
200 JS15

Rear Hinge with Ball Joint

32

ME + Stroke

o | Of d
o Lm A

|/ N he o
1 g™ :

RE RF RG RH RJ RK RL ME AM KK
189514 10 32954 UM QW {5 B,6ME 142+1%5 2202 M10X1,25
22514 40 36U 24U 12W {7 M1 160125 24072 M12X1,25
3041 12 459 339 qgH 20 QM {70+ 3202 M16X1,5
35914 {2 5QUSM  Z7M qgHI 22 QHIB  {gp=1e 32042 M1BX1,5
40% 14 63U 479 QM 26 113 210+ 4002 M20X1,5
509 15 7114 BB QM 30 1113 230+16 4002 M20X1,5
6014 20 Q0¥ 70U 30M 38 14" 275:2  540/2 M27X2
88951 25 11514 Q74 35H0 42 143 315:2 7202 M3EX2
90¥s14 30 135954 105 35M 45 18"  335:2  720/2 M3EX2
1101 35 165951 12814 4QHe 48 22M1°  375:2 8402 M42X2
122951 40 200% 150%% 50% 59 26"  420:25 960/2 MA8X2
ﬂ @ j WD
e SipN
o U
i D
WE
WE + Stroke
(%] WB WC WD WE WF E R AM KK
32 1007 1401 15 142 2202 47 32,5 222 M10X1,25
40 12H7 1601 17 160 2502 54 38 2402 M12X1,25
50 16H7 211 19 170 272 66,5 46,5 32°2 M16X1,5
63 1607 2101 22 190 322 76,5 56,56 32°2 M16X1,5
80 2017 25 26 210 36*®2 95 72 40°/2  M20X1,5
100 20" 25 28 230 41=2 115 89 4002 M20X1,5
125 30" 37 40 275 502 140 110 540972 M27X2
160 3517 43 42 315 55%02 180 140 7292 M36X2
200 35417 43 47 335 602 220 175 72972 M36X2
250 40417 49 48 375 70*02 275 220 8492 M42X2
320 50" 60 58 420 802 345 270 96°2 M48X2

RA

4 H—H hﬂ
CERI -
RC
RB
cop. o
G70AR0Z 32
G70ARO4 40
G70AR05 50
G70AR06 63
G70AR0S 80

G70AR10 100

G70AR12 125

G70AR16 160

G70AR20 200

G70AR25 250

G70AR32 320

©

COD. (7]
G70AW03 32
G70AW04 40
G70AW05 50
G70AW06 63
G70AW08 80

G70AW10 100

G70AW12 125

G70AW16 160

G70AW20 200

G70AW25 250

G70AW32 320




Bracket for Rear Ball Joint

ME + Stroke

A aoircontrol

ISO 15552 Cylinders

& i i A
e o o i i
4 © [N
i iln 5
v YH B
YA
(%] YA YB ME YD YE YF YG VYH YJ AM KK
80 35 16 210 82 9 14 65 16" 16  40°72 M20X1,5
100 40 19 230 99 9 19 80 20" 19 40°2 M20X1,5
125 48 22 375 118 11 23 96 25H7 22 K402 M27X2
160 57 28 315 142 13 28 114 30" 26 72°2 M36X2
200 70 32 335 172 17 33 140 35" 32 72°-2 M36X2
Ball Joint
HE HC
g -
1=
1)
KK
[%] HA HB HC HD HE KK
32 43 20 13,5 10" 14" M10X1,25
40 50 22 15,56 12H 16M2  M12X1,25
50 64 28 20,5 16" 21" M16X1,5
63 64 28 20,5 16" 21"M2  M16X1,5
80 77 33 23,5 20" 25" M20X1,5
100 77 33 23,5 20" 252 M20X1,5
125 110 51 36,5 30" 372 M27X2
160 125 56 39 35H9 432 M36X2
200 125 56 39 35H9 432 M36X2
250 142 70 47 4017 49h12 M42X2
320 160 80 56 50H7 602 M48X2

YE

Fixing elements

@ @/ )
g
@ﬁ ﬁ@
L]
COD. o
B70AY08 80
B70AY10 100
B70AY12 125
B70AY16 160
B70AY20 200
COD. o
C70AH03 32
C70AH04 40
C70AH05 50
C70AH05 63
C70AH08 80
C70AH08 100
C70AH12 125
C70AH16 160
C70AH16 200
C70AH25 250
C70AH32 320

33



A aoircontrol

ISO 15552 Cylinders

Fixing elements

Yoke

Locknut

34

(%]
32
40
50
63
80
100
125
160
200
250
320

ele}

GA GB GC

40 20 1 0 +0,2/+0,4
48 24 12 +0,2/+0,4
64 32 1 6 +0,2/+0,4
64 32 1 6 +0,2/+0,4
80 40 20 +0,2/+0,4
80 40 20 +0,2/+0,4
110 55 300204
140 70  35-02wos
140 70 350204
160 80  40-02+0¢
200 100 50+0z0s

el

GD GE GF GG KK

10 12 20 20 M10X1,25

12 14 24 24 M12X1,25

16 19 32 32 M16X1,5

16 19 32 32 M16X1,5

20 25 40 40 M20X1,5

20 25 40 40 M20X1,5

30 35 55 55 M27X2

35 40 70 70 M36X2

35 40 70 70 M36X2

40 50 80 80 M42X2

50 60 100 100 M48X2

KK
N
JA

32 17 6 M10X1,25
40 19 7 M12X1,25
50 24 8 M16X1,5
63 24 8 M16X1,5
80 30 9 M20X1,5
100 30 9 M20X1,5
125 41 12 M27X2
160 55 14 M36X2
200 55 14 M36X2
250 65 16 M42X2
320 75 18 M48X2

COD. %]
G70AG03 32
G70AG04 40
G70AG05 50
G70AG05 63
G70AG08 80
G70AG08 100
G70AG12 125
G70AG16 160
G70AG16 200
G70AG25 250
G70AG32 320
COD. (7]
700310 32
700410 40
260410 50
260410 63
260610 80
260610 100
261010 125
261610 160
261610 200
702510 250
703210 320




AT80 Series

Stainless steel tie rod cylinders
> I1SO 15552 (ISO 6431) - VDMA 24562

The stainless steel cylinders ISO 15552 (ISO 6431)
are manufactured according to European standard
ISO 15552. These cylinders are particularly suitable in
aggressive environments, in the naval industry and in
the alimentary industry. Available with bores from 32 to
200 mm.

[%|A][T[80| %%, *|A[,xx%*x[M|*]

L >

Y

Y

Y

Strokes

Codification

1 With one detector
2 With two detectors

M Magnetic
Stroke (mm)
Internal bore (mm)

- Double acting
4 Through rod
6 Rod lock

Technical specifications

Version

4

=

— =

All strokes available according to the customer’s
needs.

Operating temperature range -20°C
Max operating pressure 10 bar>
Technical information page

Tochnicalinformation page

Lubricated or non lubricated air
+80°C

Pos. Description

Piston rod

Piston rod scraper
Guide bush

Front cylinder head
0O-Ring

Cushioning ring

e —

Liner
Tie rod
Cushion regulation screw

© O N O O~ W N =

10 Locknut for fixing rear cylinder head
11 Rear cylinder head

Material

Stainless steel AISI 316
Polyurethane

Sintered bronze
Stainless steel AISI 304
NBR

Polyurethane

Stainless steel AISI 304
Stainless steel AISI 316
Stainless steel AISI 316
Stainless steel AISI 316
Stainless steel AIS| 304

Fixing elements
Pages 27-34

35



A aoircontrol

AT80 Series

Stainless steel tie rod cylinders
» ISO 15552 (ISO 6431) - VDMA 24562

Double Acting
L2 + Stroke Y
WH L1 + Stroke
D + Stroke
A
AM Y| F
1 o1 [ e s R Ol O
o & ¥ | ) kJ
| _—_—____ _ |
T
EE EE 7G
OE
7] A AM B C D E EE Y YY KK L1 L2 P SE TG WH
32 20 22 30 30 67 47 G1/8” 4 4 M10x1.25 94 124 M6 12 325 26
40 22 24 35 35 77 52 G1/4” 4 4 M12x1.25 105 139 M6 16 38 30
50 26 32 40 40 78 65 G1/4” 4 4 M16x1.5 106 147 M8 20 46.5 37
63 25 32 45 45 89 75 G3/8" 4 4 M16x1.5 121 162 M8 20 56.5 37
80 32 40 45 45 96 95 G3/8” 4 4 M20x1.5 128 178 M10 25 72 46
100 38 40 55 55 102 115 G1/2” 4 4 M20x1.5 138 193 M10 25 89 51
125 40 54 60 60 106 140 G1/2” 5 5 M27x2 160 230 M12 32 110 65
160 50 72 65 65 130 180 G3/4” 6 8 M36x2 180 266 M16 40 140 80
200 65 72 75 75 130 220 G3/4” 6 8 M36x2 180 281 M16 40 175 95
Through Rod
L1+ 2 x Stroke
WH D + Stroke
A
AM Y
oﬁx,‘,,,# I R T S _ /\ |
o8 ) ./
N @\4/
;
EE EE TG
O
[} A AM C D E EE KK L1 P SE TG WH

32 20 22 30 67 47 G1/8”
40 22 24 3 77 52 G1/4”
50 26 32 40 78 65 G1/4”
63 25 32 45 89 75 G3/8”
80 32 40 45 96 95 G8/8”
100 38 40 55 102 115 G1/2”
125 40 54 60 106 140 G1/2”
160 50 72 65 130 180 G3/4”
200 65 72 75 130 220 G38/4”

M10x1.25 146 M6 12 325 26
M12x1.25 165 M6 16 38 30
M16x1.5 180 M8 20 46.5 37
M16x1.5 195 M8 20 56.5 37
M20x1.5 220 M10 25 72 46
M20x1.5 240 M10 25 89 51
M27x2 290 M12 32 110 65
M36x2 340 M16 40 140 80
M36x2 370 M16 40 175 95

mm(ﬂ-b-h-b-b-hhj

36



A aoircontrol

Accessories

Please contact our Technical Office for more information

Rod lock

A89 Series

ISO 15552 (ISO 6431) - VDMA 24562 - ISO 6432

@20...125 mm
High Temperature versions available

H-type U-type

1ISO 15552 (ISO 6431) - VDMA 24562 - 1ISO 6432 1ISO 15552 (ISO 6431) - VDMA 24562 - 1ISO 6432
@12 ...100 mm @12 ...100 mm

Available in stainless steel version Available in stainless steel version

Positioners

For ISO cylinders

ISO 15552 (ISO 6431) - VDMA 24562

Several versions available @
. .

37



GET TO KNOW OUR FULL PRODUCT
RANGE

A

aircontrol

n o S s Cylinders and Special Assembly
®

Valves Decelerators and Shock Absorbers

A

E"-Agg;ogogg_ oircontrol

TEMA

Coupling Systems and Quick
Connect Coupling Systems

Air Motors and Brakes www.aircontrol.es

-

THONMAS

A Gardner Denver Product

Pumps and Compressors Air Springs



MUCH MORE INFORMATION ON...

WWW.AIRCONTROL.ES

DIRECT ) . o
ORbismy.. omeass yy(f) vimeo Linked [}



oircontrol

www.aircontrol.es

CUSTOMER SERVICE
(+34) 902 44 50 80

HEADQUARTERS

DONOSTIA-SAN SEBASTIAN
Paseo Sarroeta, 4

E-20014 Donostia-San Sebastian
Tel.: (+34) 943 44 50 80

Fax: (+34) 943 44 51 53

E-mail: info@aircontrol.es

BRANCHES

e BILBAO
Estartetxe, 5 - 3° Dpto. 321
Edificio Ikea
E-48940 Leioa
Tel.: (+34) 902 44 50 80
Fax: (+34) 943 44 51 53
E-mail: airbilbao@aircontrol.es

e MADRID
Centro de Negocios Renta 92
Oficina AR 116
C/ Arboleda, 14
E-28031 Madrid
Tel.: (+34) 902 44 50 80
Fax: (+34) 943 44 51 53
E-mail: info@aircontrol.es

BARCELONA

Ramoén Albé 71-73

E-08027 Barcelona

Tel.: (+34) 93 498 81 30

Fax: (+34) 93 408 41 08
E-mail: airbarna@aircontrol.es

e SEVILLA
REINSUR S.L.
Avda. Alcalde Luis Urufiuela s/n
Edificio Congreso, Mod. 421
E-41020 Sevilla
Tel.: (+34) 95 425 85 17
Fax: (+34) 95 425 85 17
E-mail: reinsursl@yahoo.es

LISBOA (PORTUGAL)

Alameda Fernéo Lopes 31 A, Torre 2 - Miraflores
P-1495-136 Algés (Lisboa)

Tel.: (+351) 21 410 13 57

Fax: (+351) 21 410 56 08

E-mail: geral@air-control.pt

MIEMBRO DE

aiftop et
Empresa
ol y Registrada
Neumatica ER-0009/2000

HEADQUARTERS

Distributed by:

Distributor / Agent:
Deutsches Zentrallager

®ABAG-Technik GmbH

Herrenstein 35 D-48317 Drensteinfurt
Phone +49 (0) 2387 8111
Fax +049 (0) 2387 8114

www.abag.de - info@abag.de

AC-ESP-CIS-13-EN




